13. Absence of technology would lead to :
(a) Less pollution (b) Wastage of precious natural resources
(c) Low value addition (d) Hurting the poorest most
Code :
(1) (a), (b) and (c) only (2) (b), (c) and (d) only
(3) (a), (b) and (d) only (4) (@), (c) and (d) only
14. The advantage of technological inputs would result in :
(1) Unbridled technological growth (2) Importing plant machinery
(8) Sidelining environmental issues (4) Lifting our people to a life of dignity
15. Envisioning a developed India requires :
(1) Aspiration to become a major economic player
(2) Dependence upon projects designed abroad
(8) Focus on short-term projects
(4) Development of core technological strengths
16. Differentiation between acceptance and non-acceptance of certain stimuli in classroom
communication is the basis of : \A
(1) selective expectation of performance
(2) selective affiliation to peer groups \e CO .
(3) selective attention tesa
(4) selective morality NO
17. Assertion ( @m “g)ges to sb&oﬁ %sroom by a teacher need not be
1'to estabh ? Iater
Rea@'&l@ More co Q communication process means more control over
what the dents are learning.
Code :
(1) Both (A) and (R) are true, and (R) is the correct explanation of (A).
(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(3) (A) is true, but (R) is false.
(4) (A) is false, but (R) is true.
18. Assertion (A) : To communicate well in the classroom is a natural ability.
Reason (R) : Effective teaching in the classroom demands knowledge of the
communication process.
Code :
(1) Both (A) and (R) are true, and (R) is the correct explanation of (A).
(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
3) (A) is true, but (R ) is false.
4) ) is false, but (R) is true.
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